222

MITTER CORNERS

STEEL BEAM

WELD NOTE:

A. GRIND SMOOTH WELDS
EXPOSED TO VIEW.

STEEL BEAMS AT CORNERS

S-502

17-036

SIMPSON PA STRAP
PER DETAIL 221/ S-502 ——

NOT TO SCALE

(1) #5 CONTINUOUS 8" DEEP
SOLID GROUTED BOND BEAM

i / MASONRY WALL
GROUT SOLID 4" ABOVE i;l': -
PLYWOOD SHEATHING - Al COLD-FORMED BLOCKING
TYPICAL i PER DETAIL 221/ S-502
EDGE ATTACHMENT PER PLYWOOD SHEATHING -
GENERAL STRUCTURAL S EDGE FASTEN TO BLOCKING
NOTES - TYPICAL \
|
SIMPSON Z2 ﬁﬁ - TR ﬁ%f— ==
CLIP - TYPICAL ——— “HY . o ?
PLYWOOD Vet TP 1-3"MIN
SHEATHING - EDGE NI
FASTEN TO BLOCKING — RN TYP
| L
St T B =
| i A SIMPSON PA STRAP PER
e b DETAIL 221/ S-502

RN

Al (1) #4 X 32" LONG CENTERED

= ON SIMPSON STRAP - TYPICAL
COLD-FORMED IR (2) #5 CONTINUOUS 8" DEEP
COLD-FORMED L \ SOLID GROUTED BOND BEAM
DETAIL 22175-502 #4 VERTICAL X 32" LONG -
4X6 WOOD BLOCK N 16" EACH SIDE OF
NESTED IN TRACK WITH v SIMPSON STRAP - TYPICAL
(4) #10 X 2" LONG
SCREWS EACH NOTE:

FLANGE - TYPICAL

CONTINUOUS WOOD
LEDGER - TYPICAL

STRAPS ON OPPOSITE SIDES OF THE WALL SHALL
BE OFFSET 24" MINIMUM FROM EACH OTHER

223 | PLYWOOD SHEATHING AT COLD-FORMED STUD WALL
s502 | NOT TO SCALE
17-036
| 314" MAX
3/16 | A
3/8" X 4" X 4" i
STEEL PLATE
MASONRY WALL
316 /
K (1) #5 X 48" LONG IN 16" DEEP
(3/16) — SOLID GROUTED BOND
N BEAM
Fl= 44
T o1
STEEL BEAM WITH &Z: 1
END PLATE TO N

MATCH BEAM WALL
THICKNESS - BUTT

WELD ALL-AROUND
STEEL EMBED PLATE 1/2" X
6" X 12" WITH (2) 3/4"Q
L4X3X3/8 (LLH) AUTOMATIC WELDED

X 4" LONG

224

HEADED STUDS AT 8" O.C.

3/16 4 A

STEEL BEAM AT MASONRY WALL

S-502

17-036

NOT TO SCALE

219

T MASONRY WALL

CONTINUOUS 8" DEEP
/ SOLID GROUTED BOND
BEAM

STEEL BEAM

3/4" CLR
| —— (2) 3/4"@ BOLTS - TACK
| WELD BOLTS TO BOTTOM
> ! OF PLATE - TIGHTEN NUTS
3/4" FINGER TIGHT
| ——— 11/2"LONG SLOTTED
< HOLES ON BEAM GAGE
- 2 N EACH SIDE OF BEAM WEB
-¢fel ) —— STEEL BEARING PLATE 1/2"
X &.\ X 5" X 10" WITH 2 LAYERS
A OF 15 LB BUILDING PAPER
1"+ DRYPACK /
FLOWABLE GROUT ——
—— (2) 3/4"@ HEADED STUDS
(2) #5 X 48" IN 8" DEEP
SOLID GROUTED N

BOND BEAM

STEEL BEAM BEARING ON MASONRY WALL

STEEL BEAM

(2) 3/4"@ BOLTS - TACK
WELD BOLTS TO BOTTOM
OF PLATE - TIGHTEN NUTS
FINGER TIGHT

STEEL BEARING PLATE WITH
2 LAYERS OF 15 LB BUILDING
PAPER

(2) 3/4"d HEADED STUDS

SECTION
X

$-502

17-036

3x WOOD NAILER WITH
(2) 1/2"d AUTOMATICALLY

NOT TO SCALE

CONTINUOUS TRACK -
m/ SIZE AND GAUGE TO
MATCH STEEL STUDS

WELDED THREADED
STUDS AT 12" O.C. I I
[ EDGE FASTENING
PLYWOOD l | /
SHEATHING ) | STEEL STUD WALL
3 I ||/ 362S162-54 AT 16" O.C.
\ A=)
{ X S
S |I\ SIMPSON H2.5A AT EACH STUD
WITH (5) #10 SCREWS TO STUD
Iy, AND (5) 8d NAILS TO NAILER
I
I L3-1/2X1-1/2X14GA MIN RIGID
I n/ CLIP WITH (4) #10 SCREWS
| AT EACH STUD AND (4)
s A 0.157"% POWDER-ACTUATED
COLD-FORMED B FASTENERS TO STEEL BEAM
JOIST i
|
STEEL BEAM I lI
|- L2X2X16GA STEEL ANGLE
CONTINUOUS TRACK I || WITH (2) #10 SCREWS EACH
WITH 2" VERTICAL LEG - TYPICAL EACH STUD
LEGS - SIZE AND
GAUGE TO MATCH
STEEL STUDS I
| || | CONTINUOUS 362S137-54
WINDOW WALL WITH . NESTED IN TRACK
VERTICAL DEFLECTION oo
TRACK - ALLOW FOR 1/2" J—N,—L

MINIMUM UPWARD OR
DOWNWARD DEFLECTION

220

COLD-FORMED STUD WALL AT STEEL BEAM

S-502

17-036

NOT TO SCALE

(1) #4 X 32" LONG
CENTERED ON

(1) #5 CONTINUOUS 8"
SIMPSON PAZ3 AT __ DEEP SOLID GROUTED
(16) #10 X 3" LONG g i BOND BEAM
SCREWS AR
Al - EDGE ATTACHMENT
1 PER GENERAL

PLYWOOD STRUCTURAL NOTES
SHEATHING - o I
EDGE FASTEN T'-3"MIN o | GROUT SOLID 4"
TO BLOCKING 1t ABOVE PLYWOOD

T‘ vk SHEATHING

) £l L

TN

SIMPSON STRAP

? (2) #5 CONTINUOUS 8"
COLD-FORMED JOIST DEEP SOLID GROUTED
BOND BEAM
550T200-54 COLD-FORMED )
BLOCKING CONTINUOUS #4 VERTICAL X 32

OVER JOISTS FOR 6'-0"
MINIMUM FROM FACE OF
LEDGER - CUT AND BEND

LONG - 16" EACH SIDE
OF SIMPSON STRAP

A

FLANGES AT JOISTS AND CONTINUOUS WOOD
ATTACH WEB TO JOIST LEDGER
WITH (2) #10 SCREWS
v MASONRY WALL
4X6 WOOD BLOCK NESTED
IN TRACK WITH (4) #10 X 2" NOTE:

LONG SCREWS EACH
FLANGE

SIMPSON Z44 CLIP

221

BLOCKING MUST FILL
BAYS AND FIT SNUGLY

PLYWOOD SHEATHING AT MASONRY WALL

§-502

17-036

NOT TO SCALE

1/2" STEEL CAP PLATE -
BUTT WELD ALL AROUND

e
IN

(1/4)

/7 STEEL BEAM

PER ARCH
(2' - 6" MAX)

STEEL COLUMN CLOSURE PLATE TO MATCH
COLUMN WALL THICKNESS -

BUTT WELD ALL AROUND

217 | STEEL BEAMS AT STEEL COLUMN
s502 | NOT TO SCALE
17-036
1/2" STEEL CAP PLATE - I
BUTT WELD ALL AROUND /4y '~
‘ / STEEL BEAM
< L <
_______ | | |\F ]
|||
]
||
STEEL BEAM R CLOSURE PLATE TO MATCH
o COLUMN WALL THICKNESS -
| | I BUTT WELD ALL AROUND
|
R STEEL COLUMN
|
AL
218 | STEEL BEAMS AT STEEL COLUMN

§-502

17-036

NOT TO SCALE

24" LONG DOWEL TO MATCH
VERTICAL REINFORCING

MASONRY WALL

5/16 V

A

(1

STEEL BEAM ‘\

e
) N6

WRAP WITH 1/4" THICK X 8"
LONG SPONGE RUBBER

CONTINUOUS 8" DEEP
GROUTED BOND BEAM -
EXTEND BOND BEAM
REINFORCING OUT OF WALL
TO EACH SIDE OF BEAM WEB

<

(2) 3/4"@ BOLTS - TACK

AN

WELD BOLTS TO BOTTOM
OF PLATE - TIGHTEN NUTS
FINGER TIGHT

11/2" LONG SLOTTED

1"+ DRYPACK/
FLOWABLE GROUT

(2) 3/4"®

STUDS AT 6" O.C.

HOLES ON BEAM GAGE

EACH SIDE OF BEAM WEB

STEEL BEARING PLATE 1/2" X

HEADED

5" X 10" WITH 2 LAYERS OF
15 LB BUILDING PAPER

:

(2) #5 X 48" IN 8" DEEP
SOLID GROUTED BOND
BEAM

WELD NOTES:

A. WELD REINFORCING TO EACH
SIDE OF BEAM WEB

213 | STEEL BEAM BEARING ON MASONRY WALL
s502 | NOT TO SCALE
17-036
1/2" STEEL PLATE EACH
SIDE OF BEAM WEB
STEEL BEAM
-
3/8" STEEL STIFFENER
o PLATE EACH SIDE -
1 TYPICAL
l | 3 SIDES
O ©® / :// 14
I'l
> < QIO < < 11/2'<
oo /ﬁ 1/2"
, \ L

|
79; e
1/2" GAP TYP

3 ROWS OF BOLTS -
SEE NOTES

1

214

il

TYPICAL DETAIL -

3/4" STEEL CAP PLATE
WITH (4) 3/4"@ A325N
BOLTS ON BEAM GAGE -
PLATE WIDTH TO MATCH

1
g\;
\ BEAM FLANGE WIDTH

STEEL COLUMN

NOTES:

1. PROVIDE 3/4"@ A325N BOLTS UNLESS NOTED
OTHERWISE

2. PROVIDE STANDARD SHORT SLOTTED
HOLES IN BEAMS OR PLATES

BEAM SPLICE OVER COLUMN

S-502
17-036

NOT TO SCALE

Kimley»Horn

7740 N 16th St #300, Phoenix, AZ 85020
(602) 944-5500

GOLETA

WEST

SANITARY DISTRICT

Your environmental partner since 1954

UCSB Campus

Parking Lot 32

Santa Barbara, CA 93106

(p) 805 968-2617 (f) 805 562-8987

ADMINISTRATION
BUILDING

EDUARDO GALINDO
ARCHITECT
AIA, CSI, CDT, LEED AP BD+C

4448 E. SLEEPY RANCH ROAD
CAVE CREEK, ARIZONA 85331

480.751.8780 ed@egadesign.net

egadesign.net

PAMELA E.
SINGLETON

S 005889

EXP. 9/30/2025
08/29/2023

ISSUED REV DATE
BUILDING PERMIT REVIEW 29 AUG 2023

FRAMING DETAILS
213 - 224

SCALE
17-036

PROJECT NUMBER

S-502

DRAWING NUMBER




